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. BRI RS OKESE
HEE R = (TIN-RA)/BA*100%

WERLIHESLE , SREENRIREETHSER , EEMENHEERE.

* MatplotlibrJ#{LZE

Matplotlib @— 1 Pythonf92DGEE, 1Eid

Matplotlib
, FFREBALUERIL
ﬁﬂ;ﬁ% EaTLAERRE , B5E

IS FPE  mixE , REE, ATLLLEEEROUE , EEMRIE

SLARF , (EEUEEINEN. BEEGIRKRS.

BIERAERTTE

I nport matplotlib. pyplot as plt
df [' xxx'].plot()
plt.show()

R E TSI ES
def cal cul ate _prof pct(data):

PP??7?7?7

297 = 222-72)/??

: param dat a: ???7???7?7?
rreturn: 2?72?7777

data = data[data['signal'] !'= 0]

data['profit_pct'] = (data['close']
t(1l)) / data['close' ].shift(1)

data = data[data['signal'] == -1]

return data

« BRHESITA

- data['close'].shif
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H P?7?77?777?7°

print(df.describe())

# 292777

df['"profit _pct'].plot()
plt.show()

¥JERlog :

money weekday buy_signal sell_signal signal profit_pct

count 8.460000e+02 846.000000 846.0 846.0 846.0 845.000000
mean 1.003719e+09 0.030733 0.0 -1.0 -1.0 0.002715

std 1.052186e+09 0.172695 0.0 0.0 0.0 0.039480

min 0.000000e+00 0.000000 0.0 -1.0 -1.0 -0.141176

25% 3.425649e+08 0.000000 0.0 -1.0 -1.0 -0.017685

50% 6.620259e+08 0.000000 0.0 -1.0 -1.0 0.000000

75% 1.335996e+09 0.000000 0.0 -1.0 -1.0 0.020270

max 8.596942e+09 1.000000 0.0 -1.0 -1.0 0.209091
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